Wol7k 422 cm o, A27k5om o AAZHEE B2ol 4 220

eglgU T @ 2749 b2 @ om A4 5L

5cm
/I
2 1 3
@ ?QCm @ 2Z cm ©) 4? cm
@ 6? cm ® 8? cm

1 27102 ier] A AN2hgo] 7o) hol




&7k 94T AeolE 2 1578 63714 7He o] 25.6 %7} 2
4

HAYrct. o] AHolE 2 155 E 7E7HA] 71= o] A= A7k "
%2917] FA L.

» x=

> ®EeHl 30.72%

227t 9 29 A7 25.6 + 5 = 5.12(X%)

Z5E] 75714 et el AZE: 512X 6 = 30.72(2)

—




R

o Tm

=

L

=UNe| =
W< - |2
SR -
< T ©

T K

J o

T T

n

T

Mo

FoS = F
TN ™[R0 123
TG

ol o ® @
= BE

g oo

Y O_E .

Hr A W

oy H <o

Blo B 8 E
or X o) =[S~ |5
! &3 =0

NI N S (SANS

o



o & . 3
ol 8 & BE T 5 2 hedeY 75 o] By o) &

Bl

31 39 31 31 31
= Ve 12 402 43t
a Qg ©uyg @y Odg

O 4

mjn
<

Bl

3
8!

X8 +5 =17

295 2655
X9=351*0= %1

39
64

X9 =4

A




= ArerE]E o] Wol7t 47.3cm? & W, AfrhE]E o] Y O] Lol
of @ cm A HFE RSt 45 EA Z}W/}Zl LB Al 2. (]
0.666--- — °F 0.67)

_-6.4cm. o

» E: cm

[> & 9F8.62cm

B

(AR EE] Hol)= {(oFHH)+ () Ix(FE°])+2
47.3 = {(°F3H)+6.4} x 6.3 + 2
47.3 = {(°F3H)+6.4} x 3.15
{(oF2H)+6.4) = 47.3 + 3.15
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(S gA] A =(AA FA)+5

— 4814 + 5 = 962.8(g)

(T 47E] A =(8 A2e] FA)+(TA 36 821 9] FA)
(T2 36521 2] FA)= 962.8 — 55 = 907.8( g)

(T2} 18-2] 9] BA1)= 907.8 + 36 = 25.216 - - -

= 9F25.22(¢g)




